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QUESTION 1

Your customer recently acquired a company with a national WAN of 750 locations consisting of MPLS VPN-based
sales, Internet-based sites and sites with direct links to regional hub sites. The existing network has MPLS VPN-based
sites. Which solution ensure security and encryption across all sites to meet an audit requirement?

A. Implement a hierarchical DMVPN-based hub-and-spoke network with IPsec encryption

B. Migrate newly acquired sites to the MPLS VPN-based service of the parent company

C. Implement a GETVPN-based solution across all sites with selective traffic encryption

D. Implement a GETVPN-based solution across all sites with redundant key servers

Correct Answer: A

QUESTION 2

A network is designed to use OSPF to reach eBGP peers. For eBGP peers to stay stable in case of a link failure, what
condition should be avoided?

A. Advertise IP addresses used on eBGP statements via a normal OSPF area
B. Use an ACL to block BGP in one direction

C. Disable BGP synchronization

D. Advertise IP addresses used on eBGP peer statements via eBGP

Correct Answer: D

QUESTION 3

What are two possible drawbacks of ending Loop-Free Alternate to support fast convergence for most destination IGP
prefixes? (Choose two)

A. The IGP topology might need to be adjust

B. Loop-free alternate\\'s convergence in less than 100 milliseconds is not possible

C. Loop-free alternate\\'s are supported only for prefixes that are considered external tot the IGP
D. Loop-free alternates are not supported in global VPN VRF OSPF instances

E. Additional path computations are needed

Correct Answer: AE

QUESTION 4

352-011 PDF Dumps | 352-011 Exam Questions | 352-011 Braindumps 2/3


https://www.passapply.com/352-011.html
https://www.passapply.com/352-011.html
https://www.passapply.com/352-011.html

VCE & PDF https://www.passapply.com/352-011.html
2024 Latest passapply 352-011 PDF and VCE dumps Download
PassApply.com

What is the definition of TOGAF framework?
A. A framework for enterprise IP address management (IPAM) based on the IANA trusted IP lease allocation scheme.

B. A series of tools for process improvement that uses statistical method to reduce defect in process and
manufacturing.

C. A framework for enterprise architecture that provides a comprehensive approach for designing planning
implementing and governing enterprise information architecture.

D. A five-volume framework for service management that covers design transition and delivery of service and from
which the ISO 20000 was developed.

E. An ISO framework that establishes a module for network management and contains guidelines for managing object
the management database and the application entity.

Correct Answer: C

QUESTION 5

Which three network management requirements are common practices in network design? (Choose three) A. Collect
RMON poll information for future regression analysis

B. Ensure that all network devices have their clocks synchronized

C. Look at average counters instead of instantaneous counters for inconsistent and bursty KPIs, such as CPU utilization
and interface utilization.

D. Collect SNMP poll information for future regression analysis
E. Validate data plane health, application and services availability with synthetic traffic
F. Capture both ingress and egress flow-based packets. While avoiding duplications of flows

Correct Answer: BCD
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